
Converting Fahrenheit to Celsius (A)Estimate or convert the temperatures.
-90 °F = _____°C 22 °F = _____°C -66 °F = _____°C
-47 °F = _____°C -92 °F = _____°C -83 °F = _____°C
98 °F = _____°C 77 °F = _____°C 45 °F = _____°C
-30 °F = _____°C 99 °F = _____°C 69 °F = _____°C
-79 °F = _____°C -31 °F = _____°C 5 °F = _____°C
48 °F = _____°C 83 °F = _____°C 61 °F = _____°C
-85 °F = _____°C 63 °F = _____°C -65 °F = _____°C
-18 °F = _____°C 5 °F = _____°C -28 °F = _____°C
100 °F = _____°C -64 °F = _____°C 77 °F = _____°C
-76 °F = _____°C -46 °F = _____°C 0 °F = _____°C
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Converting Fahrenheit to Celsius (A) AnswersEstimate or convert the temperatures.
-90 °F = -67.8 °C 22 °F = -5.6 °C -66 °F = -54.4 °C
-47 °F = -43.9 °C -92 °F = -68.9 °C -83 °F = -63.9 °C
98 °F = 36.7 °C 77 °F = 25 °C 45 °F = 7.2 °C
-30 °F = -34.4 °C 99 °F = 37.2 °C 69 °F = 20.6 °C
-79 °F = -61.7 °C -31 °F = -35 °C 5 °F = -15 °C
48 °F = 8.9 °C 83 °F = 28.3 °C 61 °F = 16.1 °C
-85 °F = -65 °C 63 °F = 17.2 °C -65 °F = -53.9 °C
-18 °F = -27.8 °C 5 °F = -15 °C -28 °F = -33.3 °C
100 °F = 37.8 °C -64 °F = -53.3 °C 77 °F = 25 °C
-76 °F = -60 °C -46 °F = -43.3 °C 0 °F = -17.8 °C
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